F Mount Line Scan Lens,FingiamesL

CLL Series * SR PET g (] A

ICLL(F) WD - fZ2=3308%K

CLL-1828F e farmm
CUDEE (15" (517
706.9 128
CLL-3528F e e
1795.2 289.0
CLL-3528MF (0.02x)mm (0_12;'"'“
- 23. !
CLL-5018F sg_osz)mm ﬁfg?&nm
- 1025.0 181.4
CLL-5028F (O_OSX)mm (0.3x)mm
CLL-8540F 864.2mm 285.0mm
BEAEEM8mm~f185/9 9 M1FH, 0.1%) 0.35%)
Y 527 A o CLL-10028F ?(?gngm ?gmm
AIEREMER, 2MTEEAT @, (0059 0.3%)

1951.7mm 1404.4mm

EEINNEIREERT . Lzt o = o

CLL-2526F LL-3528F

7229 0.025K) (s 1010.8 £0.025X gy 706.9 (0.05X)
~137.9 [0.12X) 51.5 6.5 ~198.1 (0.12X) 3.5 46.5 ~112.8 (0.3 71.5 46.5
e o (WD)
18.5 l9.9 4.6
P i
) = < g
5 E 5] i
o - al 2}
28 e el | - < R — 1 3 8 R
S ~ 9| - N
IR
2-M2 Lock screw F-mount F-mount F-mount
826.9 (0.025X) ~241.9 (0.12X) (0/1) 1100.8 (0.025X) ~288.1 (0.12X) (0/1) 824.9 (0.05X) ~230.8 (0.3X) (Ofl)
CLL-3528MF CLL-5018F EFHIERLE CLL-5028F
1025.0 (0.05X)
1795.2 (0.02X) 1123.7 0.05K) ~181.4 (0.3X)
~289.0 (0.12X) 69.5 46.5 ~388.6 (0. 14X)_(HD) 53.5 6.5 (WD) 58 46.5
(WD)
2:M2 Lock screw 46 13.5 2-M12 Lock screw 46
—— 1| 29
. = L
g ] 2 ©
. I g 3 . -
2 e - g3z —3—-— gl 2 5
| = [ = %. g o o T
o \ F-mount t | \
F-mount F-mount
1911.2 (0.02X)_~405.0 (0.12X) (O/l) 1223.7 (0.05K) ~488.6 (0.14K) (0/1) 11205 (0.05X) ~285.9 (0.3X) (Of)
ERER 18 mm 25 mm 35 mm
A HERBE (20) 0.025x ~ 0.12x (0) 0.025x ~ 0.12x (°0) 0.05x ~ 0.3x
pircaEd 0.025x | 0.05x : 01x 0.2 0.025x 0.05x | 0.1x 0.12x 005x |  01x | 02x | 0.3x
WD 7229 mm | 3528mm : 1684mm : 137.9mm  1010.8mm = 4966mm | 240.5mm 198.1 mm 7069mm : 3468mm : 169.5mm : 112.8mm
YHRIBEEE O/ 8269 mm | 4568mm  2724mm  241.9mm 11008 mm : 586.6mm : 330.5mm 288.1 mm 8249mm | 4648mm | 2875mm | 230.8mm
FNO F2.8~16 F2.6~16 F2.8~16
SCRF EESTF 29 30 31 3.2 27 28 i 29 29 28 : 30 : 33 i 35
S5 spgEmeoMdmm  371.2mm - 96mm 248mm : 17.8mm 345.6 mm 89.6 mm 23.2mm 16.1 mm 896mm | 240mm | 66mm | 3.1mm
SersseE -2.14% -1.64 % 0.43%
%8 ¢29 mm $29 mm 45 mm
EEOE M55 P=0.75 M55 P=0.75 M62 P=0.75
B 330 g 245 g 350 g
ERIEE 35 mm 50 mm 50 mm
AEEEEE () 0.02x ~ 0.12x (%0) 0.05x ~ 0.14x 0.05x ~ 0.3x
NeEEfEER 0.02x | 0.04x 0.08x i 0.12x 0.05x 0.07x |  0.1x 0.14x 0.05x :  0.1x ©0.2x : 0.3x
WD 17952 mm | 890.0 mm 4385mm : 289.0mm 1123.7 mm 7524mm : 5336mm 388.6 mm 10250mm | 5137mm : 261.9mm | 181.4mm
YEEEEO/I 1911.2 mm | 1006.0 mm 554.5 mm 405.0 mm 1223.7 mm 8524 mm 633.6 mm 488.6 mm 11295 mm : 6182mm : 3664mm @ 2859mm
FNO F2.8~16 F1.8~16 F2.8~16
SLHF *BeFF 29 29 3.0 : 32 2.0 2.0 ] 2.1 22 3.1 i 32 i 35 : 38
SR ArELEc0Mmm  580.0mm | 1450 mm 375mm | 17.8mm 64.0 mm 327mm | 168mm 9.0mm 92mm | 256mm | 70mm | 34mm
-0.21% -2.37 % -0.02 %
®»45 mm ®»45 mm $45 mm
M62 P=0.75 M62 P=0.75 M62 P=0.75
340 g 340 g 290 g

62 HOURS

www.hours-web.com



CLL-8540F

864.2 (0.1X)
~285.0 (0.35X) (WD)

93

F Mount Line Scan Lens

0.159x 1596.9

CLL Series

9
3 z 3
i — 2
= BERABXTFEITRELINE
F-mount . J
1003.7 (0.1X) ~424.5 (0.35X) (Ofl)
0.108x 1951758
2050.7 (0.05X) 0.159x 1404.4£42 0.108x 136.6 6.5
~409.0 (0.3X) (WD) 98 465 0.159x 146.0
35 (11~1.6) 56,3 12.2]4.6
(REFED)
g g u
g A = — 2
b 1 [ — 3 3 s g e = e E _____ ] ®|
s s El |
2-M2 Look screw % F-mount.
F-mount
2195.2 (0.05X) ~553.5 (0.3X) (O/l) 0.108x 21348 .
0.159x 15969 O
A& CLL-8540F CLL-10028F CLL-8556F
ERiEE 85 mm 100 mm 185 mm
ARG 0.1x ~ 0.35x 0.05x ~ 0.3x 0.108x ~ 0.159x
o= 0.1x 0.2x 0.3x 0.35x 0.05x 0.1x 0.2x 0.3x 0.108x 0.159x
WD 8642mm . 4525mm : 320.8 mm 285.0mm 2050.7 mm | 10557 mm | 5657 mm 409.0 mm 1951.7 mm % 58 1404.4 mm %42
YHRIEEREO/| 1003.7mm = 5920mm : 460.3 mm 4245mm  21952mm | 1200.2mm | 7102mm | 5535mm 21348 mm 1596.9 mm
FNO F4~16 F28~16 F5.6~32
LHF KELF 44 48 | 52 5.4 32 34 37 40 74 74
2R AVFEILE0.04mm 35.2mm 9.6 mm 4.6 mm 35mm 1024mm | 27.2mm 7.4mm 3.6 mm 485 mm 23.4mm
s 0.00 % 0.10 % 0.48 %
%B ®»50 mm ®45 mm @45 mm
yEEOE M52 P=0.75 M52 P=0.75 M405 P=05
E8 3509 3609 4009
- .
1 M42, M58 EOXEH|
< NP e . fals [ S
BEOEATTEHE, SREHEEARRBIFS,
CLL-2526M42 M42 P=1.0 (FB12) CLL-3528MM42 M42 P=1.0 (FB12)
1010.8 (0.025X) 1795.2 (0.02X)
~198.1 (0.12X) (WD) 78.0 12 ~289.0 (0. 12X)_(WD) 1040 12
3 3
*T 2-M2 Lock screw *“*
- ! !
= = =
o & X E o 7 I
g8 Tl —— g 2 g 2 S 1 I i | M % g
i -
- 2
2-M2 Lock screw
1100.8 (0. 025X) ~288. 1 (0.12X) (0:1) 1911.2 (0.024) ~405. (0.12%) (0/1)
CLL-10028M42 M42 P=1.0 (FB12) CLL-5028M58 M58 P=0.75 (FB12)
2050.7 (0.05X) 1025.0 (0.05X)
~409.0 [0.3X) (WD) 1325 12 ~181.4_(0.3X) (WD) 925 12
f 2-M2 Lock screw $T37
i g
by 2 gl 2 L ? b
1e - g o7 s 1§83
= =
2195.2 (0.05X) ~553.5 (0.3K1 (0/1) 1129.5 (0.05X)_~285.9 (0.3X) (O/l)

HOURS ©3

www.hours-web.com



Line Scan Lens for 8K/12K/16K /8K« 12K+ 16K &35k

CLL-V Series

o EILREVO, NN EBMEIEE,
o EIERIDRSREE,

o SLHIEILYeSEBRE. SXIE,
PSRRI, FUEERERAIaIS

%a

| s [ 219 | 2269 | 35p | 45¢ | 65¢ [ 909

I =@k

)

64

2048bitX10u=20.48mm [ ] [ ] [ ] [ ) [ ) [ ]
2048bitX14u=28.67mm o o o ( [
7400bitX4.7u4=34.78mm @ { ] [ [ J [ J
4096bitX10u=40.96mm [ ] o [ J
LTS R RY 6144bitX7u=43.00mm [ [ o
8192bitX7u=57.34mm ) )
12288bitX5u=61.44mm () ()
16384bitX514=81.92mm )
12288bitX7u=86.01mm )
2048 x 2048 (7.4p) = 15.15x15.15 (X} £21.43mm) o o o o o
EREAENS R 4096 x 3072(6p) = 24.57x18.43 (3 £30.72mm) o () o o
4008x%2672(19Hx9M) = 76.15x24.04 (X4 £79.86mm) o
HRRYRE SNFRZVIEER
I WD- RS
CLL-5045-M72 1763.4mm 373.7mm ~1 010 — M
(0.03x) ‘ (0.15%) s
CLL-7528-M72 | “igﬁg;;m | : : e | | e
CLL-8528LM72 Moo (] =
CLL-8528-M72 -3 : : Ea i [ X 19,
1884,9 (0.03%) ~495.2 (0. 15X] (0/1)
(cLLrs2sr2 [
~"9.[5 [u-éﬁ:“ 5 Lock screw b M2x4 Lock schwij].a(Fm 11232669 0[0[8(555;] 2-M2 Lock screw e e 17’2‘:‘422[8 ([)gx(%lg * ae
0xh. 2-M2 Lock screw s
IER|=F A %
8 =1 7 — 1 57 SEONIT T IR E SIE rre— T 1§

343 Set screw |

1659.2 (0.05x) ~534.5 (0.2:) (0 1)

3-M2.6 Set screw

1859.9 (0.05x) ~503.0 (0.25x] (01)

3-42.6 Set screw

1854.0 0. 05x) ~592.0 0.2x] (0/1)

CLL-5045-M72 CLL-7528-M72 CLL-8528-M72 CLL-8528L-M72
EoEE 52,5 mm 75 mm 85 mm 85 mm
pvcalic) 0.03x 0.10x 0.16x 0.05x 0.1x 0.15x 0.2x 0.05x 0.15x 0.25x 0.05x 0.1x 0.15x 0.2x
WD 1763.4 mm 5452 mm | 373.7 mm 1544.2mm 790.6 mm  541.9mm 4195mm  1722.9 mm 598.0 mm | 366.0 mm 1724.0mm 8784 mm 599.4mm | 462.0 mm
Y& AR O/ 1884.9 mm 666.7 mm 495.2 mm 1659.2mm  905.6 mm : 656.9 mm | 5345 mm  1859.9 mm 735.0 mm | 503.0 mm 1854.0mm 1008.4 mm :729.4 mm : 592.0 mm
FNO Fa4.5~22 F2.8~16 F2.8~16 F2.8~16
STHF *HELTF 4.7 5.0 5.3 3.0 3.1 33 34 3.0 3.2 35 2.9 3.1 32 34
NA — 0.083 0.016 0.023 0.029 — —
SR AVHHEE004mm — 96.0 mm : 248mm . M7mm = 68mm 96.0 mm 1.4 mm 4.5 mm 92.8mm  248mm = N4mm = 68mm
o 0.00 % 0.15 % 0.22% -0.66 % -0.06 % 0.02 %
HEXH (Y=375)  y=35) (y=3y =3y
A= 48% (Y=37.5) 45 % (Y=36.5) — _
) ®75 mm ¢73 mm ¢$62 mm 962 mm
EEOR M86 P=10 M67 P=0.756 M72 P=0.75 M77 P=0.75
4 910 g 440 g 520 g 540 g

HOURS

www.hours-web.com



Line Scan

CLL-V Series

ens for 8K/12K/16K

I WD - fZZ&=3488

e ores oaasd o2a: o3rs:

r2sd121 o |25 35| o |

349 2mm |
CLL-6035-V (0.165). | | | |
132.6mm . . 101.5mm
CLL-7540-V ] . ] ] 080 ; ; 0 I N
Z2mm
CLL-8540-V : (0289 o : : : S R R
CLL-8540-06V : 060, : : : S
633.4mm 414.8mm | | | | | | | | | |
CLL-12056-03V 1(0.225%) (0.375X) | 1 1 1 : : : : : :
T 417.2mm 1 285.9mm ! ! ! ! ! ! ! ! !
CLL-12056-05V : 0.375%) ‘ (0.625%) : : : : : : : : :
_ _ 284.9mm ﬁ 228.1mm
Sl 1 1 (0.625X) ‘ (0.875X) l l l l l l l
i i i 2282mm . 196.6mm [ [ [ [
CLL-12056-1V | | | o sy
| 360mm 311.5mm, | | | | | | | |
CLL-12035-05V ; (0.45%) (0.55%) n‘H : : : : : ! !
o o 260.3m 238.9mm
CLL-12035-075V 1 1 (0.7%) . (0.8X) 1 1 1 1 1 1 1
| | | 229 | 204.8mm | | | | |
CLL-12035-1V | | | (0.0 G- Vo
1,270
CLL-12040-2M67 | ; 1 1 ! ! : (2.0“1 ! !
T T T T T T T T
o - 115.5mm
CLL-12040-2.5M67 : : : : e
CLL-12028-3.3M67 1 1 ; ; ; . BB
787
CLL-12025-5M67 ; ; ; ; ; ; ; ; ; e
ciirsaov [l clLssio 854006/
349.2+11 94 87.0(FB) 345,210, 34 99.5(FB) 187.0+6 36.5 121.7(FB)
(WD) (WD) (WD)
215 125 45 Tk 11 o) T 0x 135.06) (1 a5l
1.2x 101.5 30 1.2x 149.9
— - 12 45 16.5
15 ——[=] ]
- p ) — < i — o2
b ] = @ b = b I — =
-5 5 | _ : - 772;-?@7//, I . 2|l = 3 gle ,,7,5,?§~#,
]le n °s[® 33+ — 82 R T(IE SEAT 33 o
e -
—— Ed m‘w 2 Look scren oy W2 Look soron W2 Look soren
530.2(0/1) 1,20 2814 478.7(0/1) 345.2(0/1)
CLL-6035-V CLL-8540-V CLL-8540-06V
ERIER 60 mm 85 mm 85 mm
Seaperaz 0.165x 0.8x 1.2x 0.28x 0.6x
WD 349.2 mm £11 132.6 mm 1015 mm 345.2 mm £10 187.0 mm 6
YHRIEEEE O/ 530.2 mm 282.7 mm 281.4mm 478.7 mm 345.2 mm
FNO F3.5~22 F4~16 F4~16
SEHF HESF 4.1 7.7 9.6 5.1 6.4
NA 0.020 0.052 0.063 0.027 0.047
SR AVRHEE/EC004mm 12.0 mm 1.0mm 0.5 mm 5.2 mm 1.4 mm
SesrgeE -0.08 % 0.00 % -0.04 %
©%B »62 mm ®»62 mm »62 mm
TEEOR M67 P=0.75 M 405 P=0.5 M 375 P=05
F8 360g 160 g 170 g

CLL-12056-03V

0.225X 633.4

0.225X 133.8

375X 153.7

0.625X 188.2

CLL-12056-05V CLL-12056-075V | cLL-12056-1v [

0.375X 417.2 0. 0.625¢ 284.9 0.875X 228.2 0.875X 218.4
0.3X 4967 0.3X  143.0 (FB) 0.5X 3352 0.5X_ 169.1(FB) 0.75%  249.7 0.75X  203.7(FB) 10X 210.4 1.0X_ 234.0(FB)
0.375X 414.8 36 0.375X 152.2 0.625X 285.9 33.5 0.625X 184.5 0.875X 228. 1 36.5 0.875X 219.2 1.125X 196.6 36.5 1. 125X 249.6

D) Y (WD) 45 (D) 45 L | 45

18.5 20 18.5 1.5

) . o ) — o)

b : & & g ] & g ! &
5| | <7 < o ol ool o5
SRER s = — g e — g 8 Y3 gt R aah B (E R R R ada

L | = | - L|
ﬁ 0.225K 803.2 - 0.375X 604.4 0.625X 500, 6 t]) g;sx ﬁg. ; o
0.3 675.7 (0/1 0.5 537.8(0/1) ﬁ 0.75X 489.9(0/1) ﬁ . .90/
M2 Lock screw X a0 0 095 5059 M2 Lock screw 0. 875% 483.8 M2 Lock screw 17125X 4827

CLL-12056-03V

CLL-12056-05V

CLL-12056-075V

CLL-12056-1V

ERIES 120 mm 120 mm 120 mm

prcali=E 0.225x 0.3x 0.375x 0.375x 0.5x 0.625x 0.625x 0.875x 0.875x 1.0x 1.125x
WD 633.4mm = 4967 mm @ 4148 mm  417.2mm 336.2mm | 285.9mm  284.9 mm . 2281 mm  2282mm | 2104 mm 196.6 mm
YHKIEEEE O/ 803.2mm = 6757 mm | 603.0mm  604.4 mm 537.8mm | 503.9 mm 509.6 mm | 483.8mm  483.1mm | 480.9mm = 482.7 mm
FNO F5.6 ~32 F 5.6 ~ 32 F5.6 ~32

IHF kE2FF 6.9 7.3 7.7 7.7 8.4 9.1 9.0 10.3 10.3 11.0 11.7
NA 0.016 0.021 0.024 0.024 0.030 0.034 0.035 0.042 0.042 0.045 0.048
SR AFHEIEC0.4mm 10.9 mm 6.5 mm 4.4 mm 4.4 mm 2.7 mm 1.9 mm 1.8 mm 1.1 mm 1.1 mm 0.9 mm 0.7 mm
FB S E (Y=45) -0.02 % 0.01 % 0.00 %

BRI (Y=45) 57% 60% 69%

%BE $90 mm $90 mm @90 mm

WEOR M 40.5 P=0.5 M405 P=05 M 405 P=0.5

Eoy 170 g 160 g 165 g

HOURS

www.hours-web.com

65



66

| ciL-12050:v [

| oiL-12035075 [

|

0.45X 360.0 0.45X 151.5 0.7x 260.3 0.7x 184.2 0.9x 229.0 0.9x 197.0
0.5X 333.2 (WD) 0.5X 157.5 (FB) 0.75x 248.9 (WD) 0.75x 190. 2 (FB) 1.0x 215.7 (WD) 1.0x 209.0(FB)
0.55X 311.5 0.55K 163.5 0.8x 238.9 4.3 0.8x 196.2 1.1x 204.8 40.5 101x 22100
1.5 ILS
21 25
p— [ 1 3 — —) L
© | © = o ]
e P g — © | QE : ey E - ©
g8 2T & ST A SR F T 93 F | o NI RE
= — 5 el
o5t oo N2 Lock soren /', ;. 455 M2 Lock soren/™, o, 6.5 B
M2 Look screw /™o 6y 5337 (0;1) 0. 5% 480.4(0/1) 1.0x 465.2(0/1)
0.55X 518.0 0.8x 4764 1.1 466.3
A CLL-12035-05V CLL-12035-075V CLL-12035-1V
EHER 120 mm 120 mm 120 mm
SR 0.45x 0.5x 0.55x 0.7x 0.75x 0.8x 0.9x 1.0x 1.1x
WD 360.0 mm 333.2 mm 311.5 mm 260.3 mm 248.9 mm 238.9 mm 229.0 mm 215.7 mm 204.8 mm
Y&IEREEO/| 554.5 mm 533.7 mm 518.0 mm 485.8 mm 480.4 mm 476.4 mm 466.5 mm 465.2 mm 466.3 mm
FNO F3.5~32 F3.5~22 F3.5~22
SLHF *SKELFF 5.1 5.3 5.4 6.0 6.1 6.3 6.7 7.0 7.4
NA 0.044 0.047 0.051 0.058 0.061 0.063 0.067 0.071 0.074
SR AYFELECO.04mm 2.0 mm 1.7 mm 1.4 mm 1.0 mm 0.9 mm 0.8 mm 0.7 mm 0.6 mm 0.5 mm
SEEALEE (Y=45) 0.05% 0.01% 0.05 %
ERRE (Y=45) 83% 84% 84%
& $90 mm $90 mm $90 mm
WEOE M52 P=0.75 M46 P=0.75 M46 P=0.75
Ei 390 g 350 g 350 g
I CLL'1 2035 MTF Tt T I+ 1 I T T T T 1 T T 1 . 1 °r. 1 ° ] 1 |
I F3.5 50LP/mm, 100LP/mm —F5.6  50LP/mm, 100LP/mm —F8 50LP/mm, T00LP/mm
S —— ——— =
= {
= | =
Image height [mm] ~ Y=45 Image height [mm] ~ Y=45 Image height [mm] ~ Y=45
CLL-12040-2M67 .5M67
127.0 (WD) 118.5 303.1 115.5 (WD) 17 360. 7
435 15 6 42 15 6
M2 Lock screw M2 Lock screw
] = — " | = o g
9z H 1 91 ] 1
28 +-—-— T T 25— gd 8 T i T G | A A
548.6(0/1) \3-M3 Set screw rotation 593.200/1) 3-M3 Set screw rotation
Y e - - A) 1
CLL-12028-3.3M67 LAEES] CLL-12025-5M67 LA TE
82.7 (WD) 129.5 413.2 78.7 (WD) 140 600
21 79.5 29 35.5 104.5 6
M2 Lock seren M2 Lock screw
i
[— -H
T b = T || g
g g 4 — e — 2 8y —t-—— b —t—— -
n -

3-M3 Set screw rotation

3-M3 Set screw rotation

625.4(0/1) 818.7(0. 1
CLL-12040-2.5M67 CLL-12025-5M67

ERIEE 120 mm 116 mm
SespERm 2.5x 5.0x
WD 127.0 mm 116.5 mm 78.7 mm
WRIEEERE O/ 548.6 mm 593.2 mm 625.4 mm 818.7 mm
ENO Fa~22 F4~22 F2.8~22 F 2.5~ 22
SERF RELTF 12.1 13.7 12.6 15.0
NA 0.083 0.091 0.131 0.167
SR AHEEEC004mM 0.2 mm 0.2 mm 0.09 mm 0.05 mm
S 0.07 % (Y=45) 0.04 % (Y=45) 0.04 % (Y=45) 0.03 % (Y=43.2)
AinEE 97 % (Y=45) 98 % (Y=45) 99 % (Y=45) 100 % (Y=43.2)
1&E ®»90 mm @90 mm $90 mm $86.4 mm
EEOR M52 P=0.75 M52 P=0.75 M62 P=0.75 M52 P=0.75
) 680 g 670 g 950 g 960 g

HOURS

www.hours-web.com



Adaptors for V Mount Lens /" ViEOgsL iR

HREFVIEORLBIER
L

LH Adaptor

Extention Ring(s)

_ﬂu_

HR-EXROO/M72

(28)
©53
HR-LH53/M72 (=11
938 1 5
I B HR-LHM72
(=5
40 HR-LH/V2 (=6
H HR-LH/M58
(=3

M41,P=0.75  HRLH/MA) (=11

Il Lens Holder

Il LH Adaptor

(8&8)
HPT72
[=39~59
M = HR-EXRCIC)/M58 ]
HPT58 (%8)
L=39~59
0l Focus Ring

Mount Adaptor

HR-EXRI0/MI5
(=89

Liz!

o8
S~
M95, P=1.0

—

HR-EXR30/M390
(=30

M90, P=1.0

(88)

HR-LS-M58x075

[=11.8

—

J (88)
M58, P=0.75
HR-LS-M42x100 .
(=158
M42, P=1.0

HR-LS-M5842x100

(=758

-

HR-LS-M42x075 .

=i M42, P=0.75

5=
i
%

EXROO/M58

~

15.8

HR-LH/V HR-LH/V2 HR-LH/M72 HPT72
z H 5 49+10
o5 M1 < H-—— = M
Sl |5y %; 64 1
9 A < S oF |7 < Rl a1 & ool o T [T o
E g ° g g g §
I1=6 l=6
HR-LH/(M41) [ HR-LH53/M72 -5 )
15 Womn [70] HR-LH/M58 HPT58
1 4 M=
7| e 49£10
SR F .
= ¥ o 1 g NE E
U 3 8
1=11 k-1 L
=10 1-3
l Extention Ring l Mount Adaptor
HR-EXROO/M72 NI HR-EXR90/M95 HR-EXR30/M90
— for M95 (P=1.0) for M90 (P=1.0)
Y i
30 4
— - J_ S—
g g
|1 iR SN
N U g g
I
FRERONA 10
[HR-EXR20/M72 [BTN
[HR-EXR30/M72 [T L
[HR-EXR40/M72 [ET8 | 1] L § R
1=89 1=30

for M42 (P=1.0) for M42 (P=1.0)

4 15.8 4

=0.75
975
=0.75
=1.0
61
=0.75

\
T 1 for M58 (P=0.75)
o © i 1.8,,.4|
I T T
g g 1
© o 2
L |t o & 9 9
| T-—7 Q Sl o
. £ g s
HR-EXR10/M58 I}
HR-EXR20/M58 BT} U
HR-EXR30/M58 JET}
HR-EXR40/M58 ) — —
HR-EXR50/M58 [} 1-11.8

M42 P
M72 P
M42 P:
M58 P

=158

=158 =158

m HR-LS-FMT
=144

HR-LS-M58CMT
(=5

Fin
Cn

=1.0

M42 P:

HR-LS-CMT
=5

for F-mount

ion

44

975
M72 P

=0.75

M51.5 P=0.75

HR-LS-M58x075 HR-LS-M42x075 HR-LS-M42x100 HR-LS-M5842x100 B HR-LS-FMT HR-LS-CMT HR-LS-M58CMT

for M42 (P=0.75)

for C-mount for C-mount
PEN
5, | 4 PEN
. ,‘5 4
g £
o7 5T
©
°g °g
= =
E g
£ g
J| J
1=5 I=5

HOURS '

www.hours-web.com



